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= 60,825
Il 2,200
Al 27,050
T 58,621
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OIUX 2el & HEEN = 148,696 100,250 48,446 48.33%

= 60,825

| 2,200

Al 27,050

T 58,621
HUX & 2 =S 116,050 98,150 17,900 18.24%

= 60,825

Al 27,050

- 28,175
HEEM B 30,446 0 30,446 =5
SMAFHIA KNZALS 2,200 2,100 100 4.76%

J| 2,200
A - SIS Et 690,230 152,440 537,790 352.7%

= 8,665

CH 450,000

Al 37,293

T 194,272
PN Falgea RN = 690,230 152,440 537,790 352.7%%

= 8,665

CH 450,000

Al 37,293

T 194,272
NSEH gdzt 122,833 145,380 N22,547 N 15.51%

= 8,665

Al 37,293

- 76,875
JlgZds 2gt & IIgAA = 567,397 7,060 560,337 7936.78%

CH 450,000

- 117,397
WSYEF 11,600, 184 13,800,978 A2,200,7%4 A 15.95%
&2 10,951,729 13,035,159 2,083,430 A15.98%
A0t WHEE TAIUE 10,951,729 13,035,159 A2,083,430 A 15.98%
SEH0 ALHUY JRFEH 578,580 657,473 AT78,893 A12.00%
SAIDIEE AIEES 10,343, 149 12,129,686 N1,786,537 AN14.73%
MEZEX= TAAHE FH 30,000 248,000 A218,000 A87.90%
H=sus - =5sJIE 648,455 765,819 A117,364 A 15.33%
Helotl otME M NSEE A5 648,455 765,819 A117,364 A 15.33%
HHNSEE Xy 153,654 182,214 28,560 N15.67%
HE XS 2 4,753 4,753 0 0.00%
XSt WS 2t 2,160 2,700 2540 A20.00%
NERLFEHS =+ 36,388 32,152 4,236 13.17%
C2WSHEINEALS 451,500 544,000 A92,500 A17.00%
SEYX SN 18,969,976 12,357,634 6,612,342 53.51%

= 126,439
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a
0
rh
10

20 22 - IMAS - SRIA(SIH)

o & o

HET Ofl Ak

V=2

100,000
190,000
1,256,958
17,296,579

4 =4

1,962,747
44,001
30,801

1,887,945

1,664,589

298,158

17.91%

=

1,006,947
44,001
30,801

932,145

839,589

167,358

19.93%

4=

1,006,947
44,001
30,801

932,145

839,589

167,358

19.93%

955,800

825,000

130,800

15.85%

955,800

825,000

130,800

15.85%

Y=y H

17,007,229
82,438
100,000
190,000
1,226,157
15,408,634

10,693,045

6,314,184

59.05%

Xl

>

=l A

>
-
I
02
0
4
r

[

4 W

2,073,498

82,438
1,991,060

908,050

1,165,448

128.35%

EXNHFAMHIA 22| SR

4 W

94,961
21,768
73,193

80,802

14,159

17.52%

EXNFES 88 22l € M3

4 H

1,658,581
60,670
1,597,911

595,368

1,063,213

178.58%

o
Y
oo
H
Hy
02
44
i
4
vl
s
02
Ja
o
o
>
Mo
02

319,95

231,880

88,076

37.98%

I
]
or
]
in
=
=)
0z
=
1%
i
pal

1,292,003
190,000
70,800
1,031,203

2,754,793

1,462,790

A53.10%

FHA THAEAR

42

757,000

190,000
567,000

2,330,363

1,573,363

A67 .52%

296,403

355,430

A59,027

N16.61%

238,600

70,800
167,800

69,000

169,600

245 .80%

0z
I
ir
4
C
iy
N
Pl
rr
0z
e
]
ol
02
0b
0
v
0x

7,012,050

583,744

6,428,306

1101.22%

N
>
0K
{0
P
0x
He
el
]

7,012,050

583,744

6,428,306

1101.22%
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EASE A TAISK =5 1,774,076 1,454,768 319,308 21.95%

s 100,000

Al 115,557

T 1,558,519
SA=ssE 24 Y 2t 1,774,076 1,454,768 319,308 21.95%

[ 100,000

Al 115,557

- 1,558,519
HEGHD CHME 28 X 4,372,297 4,495,747 A123,450 N2.75%

Al 1,039,800

- 3,332,497
C2XE 2 JIHANEE 2l 4,372,297 4,405,747 A 123,450 A2.75%

Al 1,039,800

T 3,332,497
JRe £E2 & 2= HH| =8 186,028 162,566 23,462 14.43%
OtMGt BAE E2FYH| FH 96,679 116,974 A20,295 A17.35%
SN H 89,349 45,592 43,757 95.98%
S& AE25 & FHEE L4 245,595 282,785 A37,190 A13.15%
SSHQ PEARSE 2 520 520 0 0.00%
HEReHEo SEH 22| 4,670 4,270 400 9.37%
HEE AFHE 0 69,465 102,755 233,290 A32.40%
HES FASSIEHIAY A 17,540 22,040 24,500 220.42%
SSFE HAHE 2t 153,400 153,200 200 0.13%
HRas(EXZEED) 1,682 592 1,090 184.12%
2H8XE 1,682 592 1,090 184.12%
HRES(ZAIZ2) 50,000 50,000 0 0.00%
LIS HHXIE 50,000 50,000 0 0.00%
oyl 7,330,534 22,641,429 A~ 15,310,8% NGB .62%

s 50,000

p) 13,800

CH 80,000

Al 190,860

T 6,99%,874
oyl sl 7,330,534 22,641,429 A~ 15,310,8% NGB .62%

s 50,000

J| 13,800

CH 80,000

Al 190,860

- 6,995,874
TH& 2tel 7,330,534 22,641,429 A 15,310,8%5 AB7.62%

s 50,000

| 13,800

CH 80,000

Al 190,860

- 6,995,874
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ollgigl 7,330,534 22,641,429 A15,310,8% AB7.62%

s 50,000

| 13,800

CH 80,000

Al 190,860

o 6,995,874
JIE 81,977,515 80,663,471 1,314,044 1.63%

= 115,920

[ 475,754

| 633,241

Al 407,188

T 80,345,412
JIEt 81,977,515 80,663,471 1,314,044 1.63%

= 115,920

P 475,754

p) 633,241

Al 407,188

280,345,412
HYE2HZHI(SSIARR) 114,129 109,637 4,492 4.10%
QAR A 47,871 46,763 1,108 2.37%
Jl=&H| 66,258 62,874 3,384 5.38%
HE2AZHI (D& 2AA) 63,203 64,491 N1,288 A2.00%
Jl=&H| 63,203 64,491 A1,288 A2.00%
HH2IZH(Z2) 69,498,424 67,732,377 1,766,047 2.61%
QI 2| 69,036,287 67,267,010 1,769,277 2.63%
Jl=3H| 462,137 465,367 A3,230 A0.69%
HY2HZHI (KD 110,760 125,117 N 14,357 A11.47%
Q2| 37,131 35,064 2,067 5.8%%
Jl=&H| 73,629 90,053 A16,424 A18.24%
HY2HZHI(MS12) 55,176 67,944 N12,768 AN18.7F%
Jl=&l 55,176 67,944 AN12,768 AN18.7%%
Y 2HZHI(HIR21) 54,281 63,209 N\8,928 A1412%
Jl=&H| 54,281 63,209 A\8,928 A4 12%
HE2AZH(2UAADL) 84,307 81,759 2,548 3.12%
QA2 | 45,363 26,151 19,212 73.47%
JlE2&l 38,944 55,608 216,664 229.97%
HE2IZH(EXNEE) 79,768 86,408 N6,640 AT .68%
Jl=3H| 79,768 86,408 6,640 AT .68%
HY2HAH(2st221) 122,293 133,413 211,120 AB.34%
Q2| 50,879 49,159 1,720 3.50%
Jl=&H| 71,414 84,254 A12,840 N15.24%
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AHYPHAH(BMHWSI) 387,887 373,189 14,698 3.94%
eI 2| 324,195 306,641 17,554 5.72%
JI=3H| 63,692 66,548 N2,856 A4 2%
Y2 HAHI(AISISXI1) 227,59 228,091 N7 A0.22%

s 69,45

Al 34,728

T 123,410
Q2| 180,64 162,5% 18,099 11.13%

[ 69,45

Al 34,728

- 76,510
Jl=&H| 46,900 65,496 A18,5% A28.3%%
HE2IZHI(OIEE ) 466,213 332,344 133,869 40.28%

= 115,920

[ 144,808

Al 32,199

- 173,286
QA2 | 395,713 254,924 140,789 55.23%

= 115,920

s 144,808

Al 32,19

T 102,786
JlE2&l 70,500 77,420 26,920 AB.94%
HY2AZH|(MEEE ) 239,761 261,677 A21,916 AB.38%

Fas 91,230

Al 22,807

T 125,724
eI 2| 147,037 147,037 0 0.00%

Fas 91,230

Al 22,807

- 33,000
Jl=3H| 92,724 114,640 A21,916 AN19.12%
HY2HAH (LRI Z M) 134,665 132,056 2,609 1.98%
FHYFBHEH2F (QF2F]) 37,343 38,646 A1,3038 N3.37%h
Jl=&H| 97,322 93,410 3,912 4.1%%
HE 2L ZHI (AT A1) 58,350 59,630 1,280 A2.15%
Jl=&tl 58,350 59,630 1,280 N2.15%
Y 2HAH|(XHE &) 4,325,042 4,429,369 A104,327 A2.36%
IR 2| 4,259,529 4,364,116 A 104,587 AN2.40%
Jl=&tl 65,513 65,253 260 0.40%
HH2EZH|(2HPIdD) 90,300 90,600 A300 A0.33%
JlE2&l 90,300 90,600 A300 A0.33%
HY2AZH(SJ=K1L) 613,786 414,654 199,132 48.02%
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2ol &

OF - 22 - H&ALY - S2AAFH(SI) Ol &F o4 HEE O &HH Hnsz
o2y 538,043 0 538,043
Jl=&H| 75,743 80,527 N4, T84

dH2dZH|(et o) 196,963 105,138 91,825
o2y 113,893 0 113,893
Jl=&H| 83,070 105,138 A22,068

Y 2IZHI (S AIZel) 1,227,980 1,613,177 A385,197
2y 1,192,141 1,559,132 366,991
Jl=&H| 35,839 54,045 18,206

dd2ddd (1w 'y 107,99 135,736 N27,740
JI=2&Hl 107,99 135,736 N27,740

HY=SFHI(HE 109,133 137,013 N27,880
Jl=2&Hl 109,133 137,013 N27,880

HH2IZH(AF) 75,464 122,802 N47,338
Jl=&H| 75,464 122,802 N47,338

HY2IZH(BAHE ) 196,858 206,028 N9,170

Il 16,313
Al 15,013
T 165,532
B 80,626 90,352 N9, 726
Il 16,313
Al 15,013
T 49,300
116,232 115,676 55
ALEXD) 1,871,494 2,072,760 A201,266
s 112,320
Il 616,928
Al 244,501
T 897,745
IE2g 1,797,290 1,949,716 152,426
s 112,320
Il 616,928
Al 244,501
T 823,541
=3 74,204 123,044 A\48,840
HY2Y T 304,865 298,861 6,004
[ 57,940
Al 57,940
T 188,985
222,181 217,421 4,760
s 57,940
Al 57,940
T 106,301
82,684 81,440 1,244
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HH2IZH(SE=sa =) 105,566 99,507 6,059 6.0%%

eI 2| 40,888 36,137 4,751 13.15%
Jl=&H| 64,678 63,370 1,308 2.06%
HY2HAHI(M1S) 57,077 74,191 A7,114 N23.07%
Jl=&H| 57,077 74,191 A7,114 A23.07%
Y 2AAHI(M2S) 74,428 90,511 /16,083 ANT.TTh
Jl=2&Hl 74,428 90,511 /16,083 NAT.TTh
HY2AZHI(M3S) 76,219 77,623 1,404 A1.81%
Jl=&H| 76,219 77,623 A1,404 A1.81%
HH2EZHI(SAESS) 59,907 54,281 5,626 10.36%
Jl=&H| 59,907 54,281 5,626 10.36%
HH2AZH(R31S) 71,592 73,066 A1,474 A2.02%
Jl=2&Hl 71,592 73,066 N1,474 A2.02%
Y 2IAH|(R22S) 63,168 60,841 2,327 3.82%
Jl=&H| 63,168 60,841 2,327 3.82%
Y2 HAHI(E23S) 54,277 59,019 N4 TR A8.03%
JI=2&Hl 54,277 59,019 N4 T4 A8.03%
HHY2A I (P34S) 60,838 61,187 A349 N0.57%
Jl=2&Hl 60,838 61,187 A349 N0.57%
HYE2HAHI(EE1S) 71,528 71,642 A4 A0.16%
Jl=&H| 71,528 71,642 A4 20.16%
HY2AIH(BHM2S) 76,788 72,871 3,917 5.38%
Jl=2&Hl 76,788 72,871 3,917 5.38%
HY 2L (HF7S) 48,467 43,047 5,420 12.59%
Jl=&H| 48,467 43,047 5,420 12.5%%
HHREZH(HELLS) 61,031 59,681 1,350 2.26%
Jl=&H| 61,031 59,681 1,350 2.26%
HY2IZHI(L4S) 86,558 84,722 1,836 2.17%
Jl=2&Hl 86,558 84,722 1,836 2.17%
HH2IZH(PAH1S) 68,088 69,532 A1,444 2A2.08%
Jl=&H| 68,088 69,532 A1,444 A2.08%
Y2 HAHI(A2S) 88,880 93,459 A4,579 A4.90%
Jl=&H| 88,880 93,459 N4.579 A4.90%
HH2IZHI(SES) 36,411 40,811 A4,400 N10.78%
Jl=2&Hl 36,411 40,811 A4,400 A10.78%




